
Porta-Pi Lite Manual                                     Copyright (c) 2014 Ryan Bates 

Copyright (c) 2014 Retro Built Games, LLC 

 
 

I. Contents, Bill of Materials, Notes .............................................................................................................. 1 

1. Assemble the Porta Pi Arcade Lite ............................................................................................................ 3 

2. Front Panel Arcade Button/Joystick Assembly. ...................................................................................... 10 

8. Wire the Front Panel Buttons and Joystick ............................................................................................. 18 

3. Mount the Raspberry Pi. ......................................................................................................................... 44 

4. DC Power Cable to Micro USB B cable. ................................................................................................... 45 

4. Bluetooth  Controls or Not? .................................................................................................................... 48 

6. Tablet Mounting Options ........................................................................................................................ 48 

7. Analog A/V Jacks (optional). ................................................................................................................... 49 

I. Contents, Bill of Materials, Notes  
The Porta Pi Arcade Lite consists of the following pieces.  

 

There are TWO Bill of Materials for the Porta Pi Lite. Since the Lite can be built as a stand-alone arcade 

for an HDTV/monitor OR as a wireless arcade panel for use with a tablet, there are two slightly different 

BOMs. 

 

Stand Alone Arcade BoM with Bluetooth tablet option. 



Porta-Pi Lite Manual                                     Copyright (c) 2014 Ryan Bates 

Copyright (c) 2014 Retro Built Games, LLC 

 

Assembly Item Quantity Description Part No Vendor 

Body 
1 1 

Oak Plywood (furniture-grade 
plywood) 1/4" x 8' x 4' n/a Ryan Bates/ Lowes 

Control 
Panel 

2 1 Arcade button (red) COM-09336 SparkFun 

3 1 Arcade button (blue) COM-09337 SparkFun 

4 1 Arcade button (green) COM-09341 SparkFun 

5 1 Arcade button (yellow) COM-09338 SparkFun 

6 4 Arcade button (black) COM-09339 SparkFun 

7 2 Arcade button (white) COM-09340 SparkFun 

8 1 
Joystick Zippyy Short Shaft (w/ 
microswitches) 480  Adafruit 

9 10 Microswitch contacts  

supplied 
with Items 
4-9   

  
10 1 

Female/Female jumper wires 40x 
12" 80207 DX 

  11 1 Hookup wire, ~3 Ft  101-903 Parts Express 

  
12 20 

0.187" Quick Connect Crimp Female 
(18-22 AWG) n/a Ebay 

Audio/ 
Video 

13 1 Male/Male Composite RCA cable   MonoPrice 

14 1 
3.5mm Male to Male Red/White 
RCA, 1FT   MonoPrice 

  
15 3 

RCA Female Keystone Jacks, 
Red,White, Yellow    MonoPrice 

Power 
16 1 Panel Mount 2.1mm DC barrel jack 122741 

Deal Extreme 
(DX.com) 

Hardware 
17 4 # 6   x 1" Flat Head  n/a   

18 2 # 4  x 1" Flat Head n/a   

  19 4 # 6 Nut n/a   

  20 2 # 4 Nut n/a   

  21 4 # 6 Washer n/a   

  22 2 #4 Nylon Washer n/a   

Bluetooth 23 1 Bluefruit HID Controller (12input) 1535 Adafruit 

  
24 1 

4 x AA Battery Holder with On/Off 
Switch 830 Adafruit 

  
25 1 

Break-away 0.1" 36-pin strip male 
header 392 Adafruit 

 



Porta-Pi Lite Manual                                     Copyright (c) 2014 Ryan Bates 

Copyright (c) 2014 Retro Built Games, LLC 

 
  

1. Assemble the Porta Pi Arcade Lite  
First, counter sink the rear-bottom panel. Later you will need two #4 x 1" inch flat head machine screws 

to mount your Raspberry Pi. Note this is the reverse side of the assembly photos. 

 

Position the two bottom pieces as shown.  



Porta-Pi Lite Manual                                     Copyright (c) 2014 Ryan Bates 

Copyright (c) 2014 Retro Built Games, LLC 

 

 

Build the middle cross brace using the two long bracket peices. Make sure to follow the picture. We 

want the shorter tab to be on the top. 



Porta-Pi Lite Manual                                     Copyright (c) 2014 Ryan Bates 

Copyright (c) 2014 Retro Built Games, LLC 

 

 

Place the Left and Right panels on as shown. The left panel has a large cutout where the Raspberry Pi's 

USB and Ethernet jacks are located. This cutout must be on left as shown. Add the cross-brace. Remeber 

the short tab must face up. 



Porta-Pi Lite Manual                                     Copyright (c) 2014 Ryan Bates 

Copyright (c) 2014 Retro Built Games, LLC 

 

 

Add the Rear panel on. The larger rectangle cutout must be on the left (next to the other cutout on the 

adjacent panel). 



Porta-Pi Lite Manual                                     Copyright (c) 2014 Ryan Bates 

Copyright (c) 2014 Retro Built Games, LLC 

 

 



Porta-Pi Lite Manual                                     Copyright (c) 2014 Ryan Bates 

Copyright (c) 2014 Retro Built Games, LLC 

 

 

Does yours look like this? Note the locations of all the cutouts. 

Add the front panel. 

 



Porta-Pi Lite Manual                                     Copyright (c) 2014 Ryan Bates 

Copyright (c) 2014 Retro Built Games, LLC 

 
 

Add a few clamps if you have them, and wait for the glue to dry. 

 

 



Porta-Pi Lite Manual                                     Copyright (c) 2014 Ryan Bates 

Copyright (c) 2014 Retro Built Games, LLC 

 

2. Front Panel Arcade Button/Joystick Assembly.  
You will need the following cabinet panels. 

 

You will also need the following hardware 

(2) black* arcade buttons 

(1) red* arcade button 

(1) blue* arcade button 

(1) yellow* arcade button 

(1) green* arcade button 

(4) #6 x 1" Flat head machine screws 

(4) #6 machine nuts 

(4) #6 nuts 

(4) #6 lock washers (not provided but optional) 

* or whatever colored buttons you choose. 

 



Porta-Pi Lite Manual                                     Copyright (c) 2014 Ryan Bates 

Copyright (c) 2014 Retro Built Games, LLC 

 
Follow these steps very closely.  Pay attention to the pictures. The orientation and layering of these two 

pieces is critical. 

 If done wrong you will glue the font panel upside down and playing the arcade will be very 

uncomfortable. 

 

 



Porta-Pi Lite Manual                                     Copyright (c) 2014 Ryan Bates 

Copyright (c) 2014 Retro Built Games, LLC 

 
Place the two front panels on top of each other as shown. Glue these two together.  

 

(Bottom side of joystick/button assembly.) 

Do not get glue on the outer edges. These are the edges that do not overlap. All the holes will line up.  

Take notice of the 6-button arc curvature. Do not glue these two pieces in the opposite stack. Follow 

this picture. 

 

(Button/joystick panel, play/ top side.) 



Porta-Pi Lite Manual                                     Copyright (c) 2014 Ryan Bates 

Copyright (c) 2014 Retro Built Games, LLC 

 
Unscrew the ball-top and cover plate (may differ in color) on the joystick. Place these aside. 

 

Insert the four #6 x 1" flat head screw into the counter-sunk side (this is the top side). 

 



Porta-Pi Lite Manual                                     Copyright (c) 2014 Ryan Bates 

Copyright (c) 2014 Retro Built Games, LLC 

 
Flip the stack over and place the joystick over the four screws. Note the orientation; the five pins must 

face toward the button openings. 

 

Add washers to all four screws. 

 

Add lock-washers on top of the washers (optional; lock washers are not provided). 








































































